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In the previous lecture, we discussed about work- energy
principle for RBs subjected to a set f forces. The work
—energy princple torned out to be same os woas for o

Par’n‘cle , i-e.
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Next, we inkroduced the idea of potental fonchon &~ a
Cconsevvative &Y‘Ce ovx e Pc‘m»nh‘al eneray asseciated with
o conservvative fovce and we skated Hat o congervalive
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Relabion between work Aone by Consevvatve

forces and Potenbial energy for an RB
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Integrating @ , we get umork done by concervative
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SO, fhe total work done by conser vative ‘Forces oc’n'na. on
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However, we have earlier derived work- energy velaheon

for an RB ., where the wmechanical power 'P]l_ was

velated to the dme-derivatve o,F— the kinetc energy

of the RB H
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Tn such cases, 1f kinetic energy T increases, then potentol

enerqy V decreaces, and Vvice versa.
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Example: Oscillabon of o Phudsical

Pendulum
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Change in loo’cen'h'od energy ogf'- assless |inear le-ring_
We consider te linear ~[2o'rce
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Consider o lineay sFring Hhat under-aoes chanze aF \erg’l'h
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